L3(7).2 (mod 19)

blocks | defect matrix blocks | defect matrix
G 1 1 9x%x6 17 0 4561 = X22,0, 16,0
2 0 971 = X3,0,©3,0 18 0 4562 = x22,1, P16,1
3 0 572 = X3,1, ¥3,1
4 0 152, = X4,0, P4,0 3.G: 19 0 114; = X23+5 P17+
5 0 1522 = X4,1,P4,1 20 0 1142 = X24+, P18+
6 0 3041 = Y54, P54 21 1 9x3
7 0 342, = X13,05 8,0 22 0 6845 = X34+ P22+
8 0 3429 = X13,1, ¥8,1 23 0 6844 = X35+ P23+
9 0 3425 = X14,05 9,0 24 0 6345 = X36+5 P24+
10 0 3424 = X14,1, ¥9,1 25 0 634 = X37+5 P25+
11 0 3425 = X15,0, ¥10,0 26 0 6847 = X38+)> P26+
12 0 342¢ = X15,1, $10,1 27 0 6845 = X394 P27+
13 0 684, = X164 P11+ 28 0 6849 = X40+; P28+
14 0 6845 = X184, P13+ 29 0 7981 = X414, P20+
15 0 399, = X21,0, $15,0 30 0 7982 = X42+5 P30+
16 0 399, = X21,1, P15,1 31 0 912, = X43+5 P31+
Block 1: | p10 1,1 @20 @21 $70 @71
11 =x10 1 .
la=x11 1 w0 = L
561 = X2.0 11 oL =l
562 = X2,1 1 1 . . ¥20 = 551
5761 = X7+ 1 1 2,1 = 552
5765 = o4 11 vro = 288
5763 = X114+ . 1 1 Yr1 = 2883
3431 = X20,0 1 . 1 .
3432 = X20,1 1 1
Block 21: P19+ P20+ P21+
1921 = xo5+ 1 .
1925 = X264+ 1 .
1923 = X271+ : 1 o194+ = 1924
5764 = X28+ 1 1 1 P20+ = 1925
5765 = X290+ 1 1 1 a1+ = 1923
5766 = X30+ 1 1 1
5767 = X31+ 1 1 1
5768 = X324+ 1 1 1
5769 = X33+ 1 1 1




